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@7 — X T I
> mm <- read.table("Box1_R.txt", header=T) # Box1_R.txt] OHNA%Z Tmm] ICKHNT 5.
> mm

TRT DATA
DM1 2537
DM1 2069
DM1 2104
DM1 1797
DM2 3366
DM2 2591
DM2 2211
DM2 2544
DDT 2536
DDT 2459
DDT 2827
DDT 2385
AZO 2387
AZO 2453
AZO 1556
AZO 2116

DB 1997

DB 1679

DB 1649

DB 1859

DK 1796

DK 1704

DK 1904

DK 1320
Con 1401
Con 1516
Con 1270
Con 1077

O 00 N O U1 Hp W N B

N NN NNNNNDNERRRRR R B B B 2
© N O U A WNRP OO OOBNOU M WN RS

> attach(mm) #7—% Imm] ZI/RAEET 2. LI, 774V T Imm] HSEEN 5.
@K THE7E



> TRT <- factor(TRT) # I'mmJ @ [TRT] PIWEEIRERNTH 5 L ZI5ET 5.

@ Bartlett MiZ CEERILPLERICEIS 2 [5F0HME) OWME)
> bartlett.test(DATA ~ TRT)

Bartlett test for homogeneity of variances
data: DATA by TRT
Bartlett's K-squared = 5.559, df = 6, p-value = 0.4744

Bartlett MiEIC & - T Mot MRS NBICIE, (aovy IV REHWDEGTCIEEL, T
D Welch MEZHNB LN TES ¢

> fn <- oneway.test(DATA ~ TRT)

>fn

One-way analysis of means (not assuming equal variances)
data: DATA and TRT
F = 12.4826, num df = 6.00, denom df = 9.23, p-value = 0.0005726

@ Shapiro-Wilk ¥ GRZEICEIT 2 NERME] ORE)
> shapiro.test(DATA)

Shapiro-Wilk normality test
data: DATA
W=0.978, p-value = 0.7999

Shapiro-Wilk #7EIC K> T NERE] DEHE MBI, aovy <Y FEHWIEAEGTTIERL, T
R0 Kruskal-Wallis MEZ W2 Z &N TES ©

> fn <- kruskal.test(DATA ~ TRT)

>fn

Kruskal-Wallis rank sum test
data: DATA by TRT
Kruskal-Wallis chi-squared = 20.8522, df = 6, p-value = 0.001950

@ | BT RIIEALED RN (ERMEE FHMEOIENH - ENTWEEDE LT)
> fm <- aov(DATA ~ TRT) # [DATA~TRT] ZE7)V &3 % laov] I XB7EHT
>summary(fm) # laov] IC X270 HTIERDOER
Df Sum Sq Mean Sq F value Pr(>F)

TRT 6 5587175 931196 9.8255 3.329e-05 ***

Residuals 21 1990237 94773

Signif. codes: @ “***' 9.001 “**' 9.01 "*' 0.05 ~.' 0.1 ° ' 1
@ FE ik (Holm #filE [7774)L ] & Bonferroni ffilE. & 51 TukeyHSD I X 2 {SHEX M)



> pairwise.t.test(DATA, TRT, p.adj="holm") #Holm i (E% U7z Z HELER

Pairwise comparisons using t tests with pooled SD
data: DATA and TRT

AZO Con DB DDT DK DM1
Con 0.01978
DB 0.71072 0.42611 - - - -
DDT ©.52695 0.00025 0.03191 - - -
DK ©.52695 0.65051 1.00000 0.01104 -
DM1 1.00000 ©0.01978 0.71072 0.52695 0.52695
DM2 ©.25185 7e-05 0.01033 1.00000 0.00309 0.25185

P value adjustment method: holm

> pairwise.t.test(DATA, TRT, p.adj="bonferroni")  #Bonferroni #fiF% L /=% 5 i

Pairwise comparisons using t tests with pooled SD
data: DATA and TRT

AZ0O Con DB DDT DK DM1
Con 0.0259% - - - - -
DB 1.00000 ©.81348 - - - -
DDT 1.00000 ©.00026 ©.04786 - - -
DK 1.00000 1.00000 1.00000 0.01364 - -
DM1 1.00000 ©.02632 1.00000 1.00000 1.00000 -
DM2 0.41194 7e-05 ©.01206 1.00000 0.00341 0.40684

P value adjustment method: bonferroni

> interval <- TukeyHSD(fm, "TRT", ordered=F, conf.level=0.95)
#TukeyHSD £1C K 2 AR OB 2 A7 2 —7 >~ MEE N7z 95 % B DFHE

> interval #TukeyHSD {£IC & 2 WUBI V- D72 D 95 % (S HEAK

Tukey multiple comparisons of means
95% family-wise confidence level

Fit: aov(formula = DATA ~ TRT)

$TRT
diff lwr upr p adj
Con-AZ0 -812.00 -1519.64561 -104.3544 ©.0178988
DB-AZO0 -332.00 -1039.64561 375.6456 0.7275292
DDT-AZO 423.75 -283.89561 1131.3956 0.4741363



DK-AZO -447.00 -1154.64561 260.6456 0.4132643
DM1-AZO -1.25 -708.89561 706.3956 1.0000000
DMZ2-AZO 550.00 -157.64561 1257.6456 ©.1998333
DB-Con  480.00 -227.64561 1187.6456 0.3339813
DDT-Con 1235.75  528.10439 1943.3956 0.0002162
DK-Con  365.00 -342.64561 1072.6456 0.6375421
DM1-Con 810.75 103.10439 1518.3956 0.0181263
DMZ-Con 1362.00  654.35439 2069.6456 0.0000595
DDT-DB  755.75 48.10439 1463.3956 0.0313774
DK-DB  -115.00 -822.64561 592.6456 0.9980704
DM1-DB  330.75 -376.89561 1038.3956 0.7308104
DMZ2-DB  882.00 174.35439 1589.6456 0.0087440
DK-DDT -870.75 -1578.39561 -163.1044 0.0098210
DM1-DDT -425.00 -1132.64561 282.6456 0.4707779
DMZ-DDT 126.25 -581.39561 833.8956 0.9967712
DM1-DK  445.75 -261.89561 1153.3956 0.4164428
DMZ2-DK  997.00  289.35439 1704.6456 0.0026313
DMZ2-DM1 551.25 -156.39561 1258.8956 0.1978741

> plot(interval)  #TukeyHSD 7£IC & 2 WFREHARI D2 D 95 % EHHX D 'S 7 2R

@55 FROBIAR (TTERIFRD

> detach() # [detach| L7z£D%EIXTIFTT. 95% family-wise confidence level
>rm(list=ls()) # IXTDA TV =7 b EiHET 5. o
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Differences in mean levels of TRT

@7 — XA H
> mm <- read.table("Box2_R.txt", header=T)

> mm

REP TRT DATA
1 S25 5113
1 S50 5346
1 S75 5272
1 S100 5164
1 S125 4804

u A W N



6 1 S150 5254
7 2 S25 5398
8 2 S50 5952
9 2 S75 5713
10 2 S100 4831
11 2 S125 4848
12 2 S150 4542
13 3 S25 5307
14 3 S50 4719
15 3 S75 5483
16 3 S100 4986
17 3 S125 4432
18 3 S150 4919
19 4 S25 4678
20 4 S50 4264
21 4 S75 4749
22 4 S100 4410
23 4 S125 4748
24 4 S150 4098

> attach(mm)

@A 5E
> REP <- factor(REP) # 70y JHEIRDOIEE
> TRT <- factor(TRT) # TR EK D FEE

@ Bartlett i (IEHIEICEIT % Shapiro-Wilk #EE [Box1] 12755 > THBICHEMEL TH <)
> bartlett.test(DATA ~ REP) # 70y 7 ERICEE T 3% 0 MO

Bartlett test for homogeneity of variances
data: DATA by REP
Bartlett's K-squared = 5.4282, df = 3, p-value = 0.143

> bartlett.test(DATA ~ TRT) # SRR BRI B 9 2 0 i O

Bartlett test for homogeneity of variances
data: DATA by TRT
Bartlett's K-squared = 5.3464, df = 5, p-value = 0.3751

@ 1 ERELILED D #TH
> fm <- aov(DATA ~ REP + TRT)  # fiL¥iEDE 7/l [DATA~REP+TRT| D& & T.
> summary(fm)  # U EOH S
Df Sum Sqg Mean Sq F value Pr(>F)
REP 3 1944361 648120 5.8622 0.007416 **
TRT 5 1198331 239666 2.1678 ©0.112809
Residuals 15 1658376 110558

Signif. codes: @ “***' 0.001 “**' 90.01 “*' 0.05 *.' 0.1 ~ ' 1



@ Flt#; (Holm ##iiE7% 5 UIC TukeyHSD 4% [TRT) & [REP] OZNZNCDOWTHEMTE3.)
> pairwise.t.test(DATA, TRT, p.adj="bonferroni")  # JLFIZEKICEH 9 % L HE LK

Pairwise comparisons using t tests with pooled SD
data: DATA and TRT

S$100 S125 S150 S25 S50
S125 1 - - - -
S150
S25
S50
S75

I SN S
e
I

P value adjustment method: bonferroni

> pairwise.t.test(DATA, REP, p.adj="bonferroni") # 7’11 7 E K[ % L & ik

Pairwise comparisons using t tests with pooled SD
data: mm$DATA and mm$REP

1 2 3
2 1.000 - -
3 1.000 1.000 -
4 0.037 0.021 0.232

P value adjustment method: bonferroni

@G HR THROBIER (SNdI)
> detach() # ldetach| L7z&D%EITNTIFTT.
> rm(list=ls()) #IRNTDA TV 7 b eilET 5.

@7 — XA H
> mm <- read.table("Box3_R.txt", header=T)

> mm

REP V. N DATA
1 V1 N0 3.852
1 V1 N1 4.788
1 V1 N2 4.576
1 V1 N3 6.034
1 V1 N4 5.874
1 V2 No 2.846
1 V2 N1 4.956
1 V2 N2 5.928
1 V2 N3 5.664
1 V2 N4 5.458
1 V3 NO 4.192
1 V3 N1 5.250
1 V3 N2 5.822

©O© 00 N O U1 A W N

T =
w N =



14 1 V3 N3 5.888
15 1 V3 N4 5.8064
16 2 V1 No 2.606
17 2 V1 N1 4.936
18 2 V1 N2 4.454
19 2 V1 N3 5.276
20 2 V1 N4 5.916
21 2 V2 No 3.794
22 2 V2 N15.128
23 2 V2 N2 5.698
24 2 V2 N3 5.362
25 2 V2 N4 5.546
26 2 V3 No 3.754
27 2 V3 N1 4.582
28 2 V3 N2 4.848
29 2 V3 N3 5.524
30 2 V3 N4 6.264
31 3 V1 N0 3.144
32 3 V1 N1 4.562
33 3 V1 N2 4.884
34 3 V1 N3 5.906
35 3 V1 N4 5.984
36 3 V2 NO 4.108
37 3 V2 N1 4.150
38 3 V2 N2 5.810
39 3 V2 N3 6.458
40 3 V2 N4 5.786
41 3 V3 No 3.738
42 3 V3 N1 4.89%
43 3 V3 N2 5.678
44 3 V3 N3 6.042
45 3 V3 N4 6.056
46 4 V1 NO 2.894
47 4 V1 N1 4.608
48 4 V1 N2 3.924
49 4 V1 N3 5.652
50 4 V1 N4 5.518
51 4 V2 No 3.444
52 4 V2 N1 4.990
53 4 V2 N2 4.308
54 4 V2 N3 5.474
55 4 V2 N4 5.932
56 4 V3 NO 3.428
57 4 V3 N1 4.286
58 4 V3 N2 4.932
59 4 V3 N3 4.756
60 4 V3 N4 5.362

> attach(mm)

O THEE

> REP <- factor(REP)
>V <- factor(V)

> N <- factor(N)

@ Bartlett i (ERMERELENZND5T)
> bartlett.test(DATA ~ REP)

Bartlett test for homogeneity of variances



data: DATA by REP

Bartlett's K-squared = 0.1655, df = 3, p-value = 0.983
> bartlett.test(DATA ~ V)

Bartlett test for homogeneity of variances

data: DATA by V

Bartlett's K-squared = 0.8044, df = 2, p-value = 0.6688

> bartlett.test(DATA ~ N)

Bartlett test for homogeneity of variances
data: DATA by N
Bartlett's K-squared = 11.0445, df = 4, p-value = 0.02607 (bx->&LY¥Y\\hE)

@ 2 BEILE DI HU
> fm <- aov(DATA~REP +V + N + V:N)
#71w 7 IREPJ LN, S7eDOTMR V] BXT INJ &, ZEHERMR TVIN) 5 %.
> summary(fm)  # 73
Df Sum Sq Mean Sq F value Pr(>F)

REP 3 2.600 0.867 5.7294 0.002220 **
vV 2 1.053 0.526 3.4801 0.039950 *
N 4 41.235 10.309 68.1534 < 2.2e-16 ***
V:N 8 2.291 0.286 1.8931 0.086706 .

Residuals 42 6.353 0.151

Signif. codes: @ “***' 0.001 “**' 0.01 "*' 0.05 *.' 0.1 ° ' 1

TR RO EHT VNI A TV+N+VIN | EA—TH 3 L EMRT 5720)
> fm <- aov(DATA ~ REP + V*N)
> summary(fm)

Df Sum Sq Mean Sq F value Pr(>F)

REP 3 2.600 0.867 5.7294 0.002220 **
vV 2 1.053 0.526 3.4801 0.039950 *
N 4 41.235 10.309 68.1534 < 2.2e-16 ***
V:N 8 2.291 0.286 1.8931 0.086706 .

Residuals 42 6.353 0.151

@ FE ik (Holm ffi 7% 5 TNC TukeyHSD $EITLTHBH T &)
> pairwise.t.test(DATA, REP, p.adj="bonferroni")

Pairwise comparisons using t tests with pooled SD
data: DATA and REP



2 1.00 - -
31.00 1.00 -
4 0.94 1.00 0.88

P value adjustment method: bonferroni

> pairwise.t.test(DATA, N, p.adj="bonferroni")

Pairwise comparisons using t tests with pooled SD
data: DATA and N

NO N1 N2 N3
N1 1.6e-07
N2 3.7e-10 1.00000
N3 5.3e-15 0.00017 0.03075
N4 5.8e-16 1.7e-05 0.00420 1.00000

P value adjustment method: bonferroni
> pairwise.t.test(DATA, V, p.adj="bonferroni")

Pairwise comparisons using t tests with pooled SD
data: mm$DATA and mm$V

V1 V2
V21 -
V31 1

P value adjustment method: bonferroni

@ HEH T O bR
> detach() # [detach] L7z&DEITRTIZTT.
> rm(list=ls()) #IRTCDA TV 7 b eiET 5.

=====Box-4: 2 B/ EIXi% (split-plot) =====
@7 — XA H
> mm <- read.table("Box4_R.txt", header=T)

> mm

REP N V DATA
1 NO V1 4430
1 NO V2 3944
1 NO V3 3464
1 NO V4 4126
1N1V15418
1 N1V26502
1 N1V34768
1N1V45192
9 1N2V16076
10 1N2V26008
11 1N2V36244

® N g s W N =



12 1N2V4 4546
13 1 N3VI 6462
14 1N3V27139
15 1N3V35792
16 1N3V42774
17 1N4 V17290
18 1N4V27682
19 1 N4 V37080
20 1N4V41414
21 1N5VI1 8452
22 1N5V26228
23 1N5V35594
24 1N5V42248
25 2NOV1 4478
26 2NOV25314
27 2NO V32944
28 2NO0V4 4482
29 2N1V15166
30 2NI1V25858
31 2NI1 V36004
32 2NI1 V4 4604
33 2N2V16420
34 2N2V26127
35 2N2V35724
36 2N2V45744
37 2N3VI1 7056
38 2N3V26982
39 2N3V35880
40 2N3V4 5036
41 2N4V17848
42 2N4V26594
43 2N4V36662
44 2N4V4 1960
45 2N5V1 8832
46 2N5V2 7387
47 2N5V37122
48 2N5V4 1380
49 3NO V1 3850
50 3NO V23660
51 3NOV33142
52 3NO V4 4836
53 3N1VI 6432
54 3N1V25586
55 3N1V35556
56 3 N1 V44652
57 3N2V1 6704
58 3N2V26642
59 3N2V36014
60 3N2V44146
61 3N3VI1 6680
62 3N3V26564
63 3N3V36370
64 3 N3 V43638
65 3N4 V17552
66 3N4V26576
67 3N4V36320
68 3 N4 V42766
69 3N5V18818
70 3 N5V2 6006
71 3N5V3 5480
72 3N5V4 2014
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> attach(mm)

@K

> REP <- factor(REP)
> N <- factor(N)

>V <- factor(V)

@ Bartlett #iE (EHIMEEMET ST L)
> bartlett.test(DATA ~ REP)

Bartlett test for homogeneity of variances



data: DATA by REP
Bartlett's K-squared = 0.1282, df = 2, p-value = 0.938

> bartlett.test(DATA ~ N)

Bartlett test for homogeneity of variances
data: DATA by N
Bartlett's K-squared = 38.7511, df = 5, p-value = 2.665e-07

> bartlett.test(DATA ~ V)

Bartlett test for homogeneity of variances
data: DATA by V
Bartlett's K-squared = 2.1845, df = 3, p-value = 0.535

@ 2 %A Split-plot D73 E T

> fm <- aov(DATA ~ REP + N*V + Error(REP/N))
# INJ I3 1 RER. ZOFR:25E TError(REP/N)] TH%.
# (V] &2 RER

> summary/(fm)
Error: REP

Df Sum Sq Mean Sq F value Pr(>F)
Residuals 2 1082577 541288

Error: REP:N # 1 REN TN BT 208000,
Df Sum Sq Mean Sq F value Pr(>F)
N 5 30429200 6085840 42.868 1.950e-06 ***

Residuals 10 1419679 141968

Signif. codes: @ “***' 0.001 “**' 0.01 "*' 0.05 ".' 0.1 ° ' 1

Error: Within # 2 REA V] BRUKHENEH TNV IZBId 2080k,
Df  Sum Sq Mean Sq F value Pr(>F)

v 3 89888101 29962700 85.711 < 2.2e-16 ***

N:V 15 69343487 4622899 13.224 2.105e-10 ***

Residuals 36 12584873 349580

Signif. codes: @ “***' 0.001 “**' 90.01 "*' 0.05 ".' 0.1 ° ' 1

@ H L
> pairwise.t.test(DATA, REP, p.adj="bonferroni")

Pairwise comparisons using t tests with pooled SD



data: DATA and REP
12
21 -
311
P value adjustment method: bonferroni

> pairwise.t.test(DATA, N, p.adj="bonferroni")

Pairwise comparisons using t tests with pooled SD
data: DATA and N

N6 NI N2 N3 N4

N1 0.54 - - - -
N2 0.12 1.00 - - -
N3 0.12 1.00 1.00 - -
N4 ©0.15 1.00 1.00 1.00 -
N5 0.16 1.00 1.00 1.00 1.00

P value adjustment method: bonferroni
> pairwise.t.test(DATA, V, p.adj="bonferroni")

Pairwise comparisons using t tests with pooled SD
data: DATA and V

Vi V2 V3
V2 1.00000 - -
V3 0.15331 1.00000 -
V4 2.7e-08 1.1e-06 0.00021

P value adjustment method: bonferroni

(| LYUEFN
> detach() # [detach| L7z&DEITRNTIET .
>mm(list=ls())  #TARNTOF TV FEETS.

=====Box-5: 2 EK#li/7Xi% (strip-plot) =====
@7 — ZFHHATH
> mm <- read.table("Box5_R.txt", header=T)

> mm

REP VN DATA
1 1 V1 N1 2373
2 1 V1 N2 4076
3 1 V1 N3 7254



V6 N2 4425
V6 N3 3214

4 1 V2 N1 4007
5 1 V2 N2 5630
6 1 V2 N3 7053
7 1 V3 N1 2620
8 1 V3 N2 4676
9 1 V3 N3 7666
10 1 V4 N1 2726
11 1 V4 N2 4838
12 1 V4 N3 6881
13 1 V5 N1 4447
14 1 V5 N2 5549
15 1 V5 N3 6880
16 1 Ve N1 2572
17 1 V6 N2 3896
18 1 Ve N3 1556
19 2 V1 N1 3958
20 2 V1 N2 6431
21 2 V1 N3 6808
22 2 V2 N1 5795
23 2 V2 N2 7334
24 2 V2 N3 8284
25 2 V3 N1 4508
26 2 V3 N2 6672
27 2 V3 N3 7328
28 2 V4 N1 5630
29 2 V4 N2 7007
30 2 V4 N3 7735
31 2 V5 N1 3276
32 2 V5 N2 5340
33 2 V5 N3 5080
34 2 Ve N1 3724
35 2 Ve N2 2822
36 2 Vb6 N3 2706
37 3 V1 N1 4384
38 3 V1 N2 4889
39 3 V1 N3 8582
40 3 V2 N1 5001
41 3 V2 N2 7177
42 3 V2 N3 6297
43 3 V3 N1 5621
44 3 V3 N2 7019
45 3 V3 N3 8611
46 3 V4 N1 3821
47 3 V4 N2 4816
48 3 V4 N3 6667
49 3 V5 N1 4582
50 3 V5 N2 6011
51 3 V5 N3 6076
52 3 V6 N1 3326
3
3

> attach(mm)

| SRRy

> REP <- factor(REP)
>V <- factor(V)

> N <- factor(N)

@ Bartlett &
> bartlett.test(DATA~REP)

Bartlett test for homogeneity of variances
data: DATA by REP



Bartlett's K-squared = 0.4748, df = 2, p-value = 0.7887
> bartlett.test(DATA~V)

Bartlett test for homogeneity of variances

data: DATA by V

Bartlett's K-squared = 7.6346, df = 5, p-value = 0.1776
> bartlett.test(DATA~N)

Bartlett test for homogeneity of variances

data: DATA by N

Bartlett's K-squared = 7.0649, df = 2, p-value = 0.02923

@ 2 Z[A Strip-plot 73U HT
> fm <- aov(DATA ~ REP + V*N + Error(REP/V)) # KR VIS DWW T DT

> summary(fm)

Error: REP
Df Sum Sq Mean Sq
REP 2 9220962 4610481

Error: REP:V
Df Sum Sq Mean Sq F value Pr(>F)
\% 5 57100201 11420040 7.6528 0.003372 **

Residuals 10 14922619 1492262

Signif. codes: @ “***' 0.001 “**' 90.01 "*' 0.05 *.' 0.1 ° ' 1

Error: Within

Df  Sum Sq Mean Sq F value Pr(>F)
N 2 50676061 25338031 54.2579 1.245e-09 ***
V:N 10 23877979 2387798 5.1131 0.0005112 ***
Residuals 24 11207825 466993

Signif. codes: @ “***' 9.001 “**' 0.01 "*' 0.05 *.' 0.1 ° ' 1

> fm <- aov(DATA ~ REP + V*N + Error(REP/N)) # MEEEL N I DWW TOZEHT

> summary(fm)

Error: REP
Df Sum Sq Mean Sq
REP 2 9220962 4610481

Error: REP:N



Df Sum Sq Mean Sq F value Pr(>F)
N 2 50676061 25338031 34.069 0.003075 **
Residuals 4 2974908 743727

Signif. codes: @ “***' 0.001 “**' 0.01 "*' 0.05 ".' 0.1 ° ' 1

Error: Within

Df  Sum Sq Mean Sq F value Pr(>F)
v 5 57100201 11420040 14.7956 2.454e-Q7 ***
V:N 10 23877979 2387798 3.0936 0.008028 **
Residuals 30 23155536 771851

Signif. codes: @ “***' 9.001 “**' 0.01 "*' 0.05 *."' 0.1 ° ' 1

> fm <- aov(DATA ~ REP + V*N + Error(REP/N*V))  # 32 HAEHEERK N:V I DWW T OO EGHT

> summary(fm)

Error: REP
Df Sum Sq Mean Sq
REP 2 9220962 4610481

Error: V
Df Sum Sq Mean Sq
V 5 57100201 11420040

Error: REP:N
Df Sum Sq Mean Sq F value Pr(>F)
N 2 50676061 25338031 34.069 0.003075 **

Residuals 4 2974908 743727

Signif. codes: @ “***' 0.001 “**' 0.01 "*' .05 ".' 0.1 ~ ' 1

Error: REP:V
Df Sum Sq Mean Sq F value Pr(>F)
Residuals 10 14922619 1492262

Error: REP:N:V

Df Sum Sq Mean Sq F value Pr(>F)
V:N 10 23877979 2387798 5.8006 0.0004271 ***
Residuals 20 8232917 411646

Signif. codes: @ “***' 9.001 “**' 0.01 "*' 0.05 *.' 0.1 ° ' 1

@B« (D
Error: REP



Df  Sum Sq Mean Sq
REP 2 9220962 4610481
Error: REP:V

Df  Sum Sq Mean Sq
V 5 57100201 11420040
Residuals 10 14922619 1492262
Error: REP:N

Df  Sum Sq Mean Sq
N 2 50676061 25338031
Residuals 4 2974908 743727
Error: REP:N:V

Df  Sum Sq Mean Sq
V:N 10 23877979 2387798
Residuals 20 8232917 411646
Signif. codes: @ “***' @.001

Skk Y

F value
7.6528

F value
34.069

F value
5.8006

0.01

Pr(>F)

.003372 **

Pr(>F)

.003075 **

Pr(>F)

.0004271 ***

X' Q.05 .7

0.1°



